Tabulation of Bids

Awarded to:	Date Awarded:	Amount Awarded (includes Base Bid)		
Vinton Construction Company	08/12/24	\$8,282,138.88		
	Davis of Manager	A . J T	0	Mariables
-	Project Manager:	Andrew Trimble	Consultant:	Mead & Hunt
State of Wisconsin	Project Manager: Airport:	Andrew Trimble ATW - Appleton International Airport	Consultant: Bid Date:	Mead & Hunt 6/13/2024
	<u> </u>			

DESCRIPTION:	:			Vinton Construction (2705 N Rapids Rd	Company	Michels Road and Si 817 Main St	tone, Inc.				
BASE BID - Unde	erground Utilities and Pond			Manitowoc, WI 5422	0-1110	Brownsville, WI 5300	06-1444				
Bid Item	Description	Quantity	Unit	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total
204.0100	REMOVING CONCRETE PAVEMENT	1,100 SY	•	\$17.00	\$18,700.00	\$17.80	\$19,580.00		\$0.00		\$0.00
204.0110	REMOVING ASPHALT	4,290 SY		\$10.90	\$46,761.00	\$6.60	\$28,314.00		\$0.00		\$0.00
204.0150	REMOVING CURB AND GUTTER	427 LF		\$5.00	\$2,135.00	\$8.00	\$3,416.00		\$0.00		\$0.00
204.0155	REMOVING SIDEWALK	2,379 SF		\$1.00	\$2,379.00	\$3.00	\$7,137.00		\$0.00		\$0.00
204.0185	REMOVING MASONRY	220 CY	,	\$85.00	\$18,700.00	\$155.00	\$34,100.00		\$0.00		\$0.00
204.0291.S	ABANDONING SEWER 6.7	7 CY	,	\$335.00	\$2,345.00	\$335.00	\$2,345.00		\$0.00		\$0.00
204.9060.S.04	REMOVING BOLLARDS	8 EA	CH	\$100.00	\$800.00	\$200.00	\$1,600.00		\$0.00		\$0.00
204.9090.S.01	REMOVING SANITARY SEWER 8-INCH	534 LF		\$8.00	\$4,272.00	\$8.00	\$4,272.00		\$0.00		\$0.00
205.0100	COMMON EXCAVATION	3,612 CY	,	\$23.58	\$85,170.96	\$13.30	\$48,039.60		\$0.00		\$0.00
209.1100	BACKFILL GRANULAR GRADE 1	768 CY	,	\$35.00	\$26,880.00	\$46.90	\$36,019.20		\$0.00		\$0.00
213.0100	FINISHING ROADWAY (BASE BID)	1 EA	CH	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00		\$0.00		\$0.00
305.0110	BASE AGGREGATE DENSE 3/4-INCH	20 TO	N	\$80.00	\$1,600.00	\$60.00	\$1,200.00		\$0.00		\$0.00
305.0120	BASE AGGREGATE DENSE 1 1/4-INCH	3,610 TO	N	\$17.50	\$63,175.00	\$20.80	\$75,088.00		\$0.00		\$0.00
311.0110	BREAKER RUN	20 TO	N	\$25.00	\$500.00	\$24.80	\$496.00		\$0.00		\$0.00
455.0605	TACK COAT	149 GA	۸L	\$5.20	\$774.80	\$5.20	\$774.80		\$0.00		\$0.00
460.2000	INCENTIVE DENSITY HMA PAVEMENT	320 DC	DL	\$0.01	\$3.20	\$1.00	\$320.00		\$0.00		\$0.00
460.5223	HMA PAVEMENT 3 LT 58-28S	220 TO	N	\$139.90	\$30,778.00	\$139.90	\$30,778.00		\$0.00		\$0.00
460.5224	HMA PAVEMENT 4 LT 58-28S	280 TO	N	\$157.75	\$44,170.00	\$157.75	\$44,170.00		\$0.00		\$0.00
465.0125	ASPHALTIC SURFACE TEMPORARY	1,088 TO	N	\$128.70	\$140,025.60	\$128.70	\$140,025.60		\$0.00		\$0.00
465.0310	ASPHALTIC CURB	871 LF		\$19.35	\$16,853.85	\$19.35	\$16,853.85		\$0.00		\$0.00
608.0336	STORM SEWER PIPE CLASS III-A 36-INCH	762 LF		\$240.00	\$182,880.00	\$240.00	\$182,880.00		\$0.00		\$0.00
608.0412	STORM SEWER PIPE CLASS IV 12-INCH	10 LF		\$171.00	\$1,710.00	\$171.00	\$1,710.00		\$0.00		\$0.00
611.0530	MANHOLE COVERS TYPE J	3 EA	СН	\$524.00	\$1,572.00	\$524.00	\$1,572.00		\$0.00		\$0.00
611.2005	MANHOLES 5-FT DIAMETER	2 EA	СН	\$7,225.00	\$14,450.00	\$7,225.00	\$14,450.00		\$0.00		\$0.00
611.2066	MANHOLES 6X6-FT	1 EA	CH	\$15,500.00	\$15,500.00	\$15,500.00	\$15,500.00		\$0.00		\$0.00

619.1000	MOBILIZATION - 10% MAXIMUM OF BASE BID TOTAL	1 EACH	\$127,500.00	\$127,500.00	\$234,800.00	\$234,800.00	\$0.00	\$0.00
624.0100	WATER	22 MGAL	\$30.00	\$660.00	\$100.00	\$2,200.00	\$0.00	\$0.00
625.0100	TOPSOIL	12,256 SY	\$2.35	\$28,801.60	\$3.60	\$44,121.60	\$0.00	\$0.00
628.1905	MOBILIZATIONS EROSION CONTROL	1 EACH	\$350.00	\$350.00	\$200.00	\$200.00	\$0.00	\$0.00
628.1910	MOBILIZATIONS EMERGENCY EROSION CONTROL	1 EACH	\$200.00	\$200.00	\$150.00	\$150.00	\$0.00	\$0.00
628.2006	EROSION MAT URBAN CLASS I TYPE A	12,256 SY	\$2.20	\$26,963.20	\$2.00	\$24,512.00	\$0.00	\$0.00
628.7005	INLET PROTECTION TYPE A	1 EACH	\$150.00	\$150.00	\$135.00	\$135.00	\$0.00	\$0.00
628.7010	INLET PROTECTION TYPE B	9 EACH	\$55.00	\$495.00	\$64.00	\$576.00	\$0.00	\$0.00
628.7015	INLET PROTECTION TYPE C	8 EACH	\$60.00	\$480.00	\$66.00	\$528.00	\$0.00	\$0.00
628.7020	INLET PROTECTION TYPE D	8 EACH	\$150.00	\$1,200.00	\$125.00	\$1,000.00	\$0.00	\$0.00
628.7556	CULVERT PIPE CHECKS	1 EACH	\$75.00	\$75.00	\$75.00	\$75.00	\$0.00	\$0.00
629.0210	FERTILIZER TYPE B 7.73	8 CWT	\$165.00	\$1,320.00	\$120.00	\$960.00	\$0.00	\$0.00
630.0140	SEEDING MIXTURE #40	220 LB	\$11.00	\$2,420.00	\$9.65	\$2,123.00	\$0.00	\$0.00
630.0500	SEED WATER	275 MGAL	\$1.00	\$275.00	\$35.00	\$9,625.00	\$0.00	\$0.00
638.2102	MOVING SIGNS TYPE II	12 EACH	\$100.00	\$1,200.00	\$90.00	\$1,080.00	\$0.00	\$0.00
638.2602	REMOVING SIGNS TYPE II	2 EACH	\$50.00	\$100.00	\$40.00	\$80.00	\$0.00	\$0.00
638.3000	REMOVING SMALL SIGN SUPPORTS	2 EACH	\$75.00	\$150.00	\$40.00	\$80.00	\$0.00	\$0.00
638.3100	REMOVING STRUCTURAL STEEL SIGN SUPPORTS	2 EACH	\$250.00	\$500.00	\$125.00	\$250.00	\$0.00	\$0.00
642.5001	FIELD OFFICE TYPE B	1 EACH	\$20,000.00	\$20,000.00	\$18,000.00	\$18,000.00	\$0.00	\$0.00
643.0300	TRAFFIC CONTROL DRUMS	10,829 DAY	\$0.35	\$3,790.15	\$0.35	\$3,790.15	\$0.00	\$0.00
643.0420	TRAFFIC CONTROL BARRICADES TYPE III	759 DAY	\$1.00	\$759.00	\$1.00	\$759.00	\$0.00	\$0.00
643.0705	TRAFFIC CONTROL WARNING LIGHTS TYPE A	1,173 DAY	\$0.50	\$586.50	\$0.50	\$586.50	\$0.00	\$0.00
643.0900	TRAFFIC CONTROL SIGNS	874 DAY	\$1.00	\$874.00	\$1.00	\$874.00	\$0.00	\$0.00
643.5000	TRAFFIC CONTROL	1 EACH	\$12,800.00	\$12,800.00	\$220,800.00	\$220,800.00	\$0.00	\$0.00
644.1810	TEMPORARY PEDESTRIAN BARRICADE	2,948 LF	\$4.99	\$14,710.52	\$4.99	\$14,710.52	\$0.00	\$0.00
646.5220	MARKING SYMBOL EPOXY	8.00 EACH	\$175.00	\$1,400.00	\$175.00	\$1,400.00	\$0.00	\$0.00
646.8320	MARKING PARKING STALL EPOXY YELLOW	1,772.00 LF	\$5.00	\$8,860.00	\$5.00	\$8,860.00	\$0.00	\$0.00
650.4000	CONSTRUCTION STAKING STORM SEWER	4.00 EACH	\$100.00	\$400.00	\$150.00	\$600.00	\$0.00	\$0.00
650.4500	CONSTRUCTION STAKING SUBGRADE	51 LF	\$0.01	\$0.51	\$6.00	\$306.00	\$0.00	\$0.00
650.5000	CONSTRUCTION STAKING BASE	51 LF	\$10.00	\$510.00	\$6.00	\$306.00	\$0.00	\$0.00
650.5500	CONSTRUCTION STAKING CURB AND GUTTER	380 LF	\$1.25	\$475.00	\$1.50	\$570.00	\$0.00	\$0.00
650.8501	CONSTRUCTION STAKING ELECTRICAL INSTALLATIONS	1 EACH	\$600.00	\$600.00	\$1,000.00	\$1,000.00	\$0.00	\$0.00
650.9500	CONSTRUCTION STAKING SIDEWALK	1 EACH	\$468.00	\$468.00	\$1,200.00	\$1,200.00	\$0.00	\$0.00
650.9911	CONSTRUCTION SUPPLEMENTAL CONTROL	1 EACH	\$450.00	\$450.00	\$2,500.00	\$2,500.00	\$0.00	\$0.00
650.9920	CONSTRUCTION STAKING SLOPE STAKES	51 LF	\$10.00	\$510.00	\$1.65	\$84.15	\$0.00	\$0.00

		1				1		
690.0150	SAWING ASPHALT	4,256 LF	\$2.50	\$10,640.00	\$1.75	\$7,448.00	\$0.00	\$0.00
690.0250	SAWING CONCRETE	1,846 LF	\$3.00	\$5,538.00	\$2.55	\$4,707.30	\$0.00	\$0.00
SPV.0060.01	STORM CHAMBER 8X18-FT	1 EACH	\$209,778.00	\$209,778.00	\$209,778.00	\$209,778.00	\$0.00	\$0.00
SPV.0060.04	SANITARY MANHOLE COVERS TYPE J-SPECIAL	8 EACH	\$544.00	\$4,352.00	\$544.00	\$4,352.00	\$0.00	\$0.00
SPV.0060.05	STANDARD SANITARY PIPE CONNECTION	7 EACH	\$585.00	\$4,095.00	\$585.00	\$4,095.00	\$0.00	\$0.00
SPV.0060.06	SANITARY WYE 10-INCH MAIN	2 EACH	\$473.00	\$946.00	\$473.00	\$946.00	\$0.00	\$0.00
SPV.0060.07	SANITARY CLEANOUTS	2 EACH	\$2,250.00	\$4,500.00	\$2,250.00	\$4,500.00	\$0.00	\$0.00
SPV.0060.08	WATER MAIN BEND 11.25 10-INCH	10 EACH	\$1,216.00	\$12,160.00	\$1,216.00	\$12,160.00	\$0.00	\$0.00
SPV.0060.09	WATER MAIN BEND 22.5 DEGREE 10-INCH	8 EACH	\$1,211.00	\$9,688.00	\$1,211.00	\$9,688.00	\$0.00	\$0.00
SPV.0060.10	WATER MAIN BEND 45 DEGREE 6-INCH	2 EACH	\$693.00	\$1,386.00	\$693.00	\$1,386.00	\$0.00	\$0.00
SPV.0060.11	WATER MAIN BEND 45 DEGREE 10-INCH	2 EACH	\$1,234.00	\$2,468.00	\$1,234.00	\$2,468.00	\$0.00	\$0.00
SPV.0060.12	WATER MAIN BEND 90 DEGREE 10-INCH	2 EACH	\$1,412.00	\$2,824.00	\$1,412.00	\$2,824.00	\$0.00	\$0.00
SPV.0060.13	WATER MAIN REDUCER 10X6-INCH	1 EACH	\$962.00	\$962.00	\$962.00	\$962.00	\$0.00	\$0.00
SPV.0060.14	WATER MAIN TEE 10X6-INCH	2 EACH	\$1,719.00	\$3,438.00	\$1,719.00	\$3,438.00	\$0.00	\$0.00
SPV.0060.15	WATER MAIN TEE 10X10-INCH	6 EACH	\$2,088.00	\$12,528.00	\$2,088.00	\$12,528.00	\$0.00	\$0.00
SPV.0060.16	WATER MAIN VALVE AND BOX 6-INCH	3 EACH	\$2,662.00	\$7,986.00	\$2,662.00	\$7,986.00	\$0.00	\$0.00
SPV.0060.17	WATER MAIN VALVE AND BOX 10-INCH	10 EACH	\$5,458.00	\$54,580.00	\$5,458.00	\$54,580.00	\$0.00	\$0.00
SPV.0060.18	CORPORATION, CURB STOP AND BOX	1 EACH	\$1,900.00	\$1,900.00	\$1,900.00	\$1,900.00	\$0.00	\$0.00
SPV.0075.01	STREET SWEEPING	124 HRS	\$0.01	\$1.24	\$175.00	\$21,700.00	\$0.00	\$0.00
SPV.0090.02	CONCRETE GUTTER 36-INCH SPECIAL	380 LF	\$60.00	\$22,800.00	\$55.00	\$20,900.00	\$0.00	\$0.00
SPV.0090.03	SANITARY SEWER PIPE, 4-INCH	9 LF	\$173.00	\$1,557.00	\$173.00	\$1,557.00	\$0.00	\$0.00
SPV.0090.04	SANITARY SEWER PIPE, 6-INCH	9 LF	\$179.00	\$1,611.00	\$179.00	\$1,611.00	\$0.00	\$0.00
SPV.0090.05	SANITARY SEWER PIPE, 8-INCH	418 LF	\$199.00	\$83,182.00	\$199.00	\$83,182.00	\$0.00	\$0.00
SPV.0090.06	SANITARY SEWER PIPE, 10-INCH	1,072 LF	\$207.00	\$221,904.00	\$207.00	\$221,904.00	\$0.00	\$0.00
SPV.0090.07	WATER MAIN 6-INCH	34 LF	\$155.00	\$5,270.00	\$155.00	\$5,270.00	\$0.00	\$0.00
SPV.0090.08	WATER MAIN 10-INCH	1,547 LF	\$221.00	\$341,887.00	\$221.00	\$341,887.00	\$0.00	\$0.00
SPV.0200.01	SANITARY MANHOLE STRUCTURE 80.32	80 VF	\$789.00	\$63,120.00	\$789.00	\$63,120.00	\$0.00	\$0.00
BS:001	REMOVE AND STORE 384 PV MODULES AND ASSOCIATED WIRING FROM CARPORT CANOPIES.	1 LS	\$105,600.00	\$105,600.00	\$123,000.00	\$123,000.00	\$0.00	\$0.00
BS-002	REMOVE LUMINAIRE AND ASSOCIATED WIRING FROM CARPORT CANOPY.	12 EA	\$400.00	\$4,800.00	\$460.00	\$5,520.00	\$0.00	\$0.00
BS:003	REWORK ELECTRICAL WIRING AND CONDUIT: #2 XLP (2KV) & #6 IN 2" CONDUIT	1 LS	\$80,000.00	\$80,000.00	\$90,000.00	\$90,000.00	\$0.00	\$0.00
BS:004	REWORK ELECTRICAL WIRING AND CONDUIT: #8 & #10 IN 1" CONDUIT	1 LS	\$9,000.00	\$9,000.00	\$10,375.00	\$10,375.00	\$0.00	\$0.00
BS:005	REMOVE AND RELOCATE HANDHOLES	2 EA	\$6,500.00	\$13,000.00	\$7,475.00	\$14,950.00	\$0.00	\$0.00
BS:006	CONDUIT: RIGID NON-METALLIC, SCHEDULE 40, 4-INCH	380 LF	\$20.00	\$7,600.00	\$23.00	\$8,740.00	\$0.00	\$0.00
BS:007	HANDHOLE: 13" X 24" X 24"D	2 EA	\$6,500.00	\$13,000.00	\$7,500.00	\$15,000.00	\$0.00	\$0.00
BS:008	HANDHOLE: 32" X 28" X 24"D	1 EA	\$8,500.00	\$8,500.00	\$9,775.00	\$9,775.00	\$0.00	\$0.00
L								

BS:009	REMOVE ALUMINUM CANOPY STRUCTURE INCLUDING SUPPORT RAILS, GUTTERS/DOWNSPOUTS, ROOF DECK AND	4 EA	\$20,000.00	\$80,000.00	\$29,000.00	\$116,000.00	\$0.00	\$0.00
BS:010	RECEPTACLE: DUPLEX GFCI PER DRAWING E-103	2 EA	\$600.00	\$1,200.00	\$725.00	\$1,450.00	\$0.00	\$0.00
BS:011	TRENCHING	380 LF	\$15.00	\$5,700.00	\$18.00	\$6,840.00	\$0.00	\$0.00
	BASE BID - Unde	erground Utilities and Pond		\$2,406,670.13		\$2,823,010.27	\$0.00	\$0.00

DESCRIPTION: ALTERNATE 1 - F	Front Drive Lane		Vinton Construction C	ompany	Michels Road and S	tone, Inc.		0	0
Bid Item	Description	Quantity Unit	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price Total
204.0100	REMOVING CONCRETE PAVEMENT	6,805 SY	\$1.50	\$10,207.50	\$5.50	\$37,427.50		\$0.00	\$0.00
204.0110	REMOVING ASPHALT	255 SY	\$10.00	\$2,550.00	\$8.50	\$2,167.50		\$0.00	\$0.00
204.0150	REMOVING CURB AND GUTTER	2,190 LF	\$6.00	\$13,140.00	\$3.00	\$6,570.00		\$0.00	\$0.00
204.0155	REMOVING SIDEWALK	17,360 SF	\$1.25	\$21,700.00	\$1.20	\$20,832.00		\$0.00	\$0.00
204.0165	REMOVING GUARDRAIL	163 LF	\$5.00	\$815.00	\$4.00	\$652.00		\$0.00	\$0.00
204.0210	REMOVING MANHOLES	1 EACH	\$625.00	\$625.00	\$625.00	\$625.00		\$0.00	\$0.00
204.0220	REMOVING INLETS	16 EACH	\$497.00	\$7,952.00	\$497.00	\$7,952.00		\$0.00	\$0.00
204.0280	SEALING PIPES	6 EACH	\$300.00	\$1,800.00	\$300.00	\$1,800.00		\$0.00	\$0.00
204.0245.01	REMOVING STORM SEWER 12-INCH	1,409 LF	\$55.00	\$77,495.00	\$55.00	\$77,495.00		\$0.00	\$0.00
204.0245.02	REMOVING STORM SEWER 15-INCH	27 LF	\$59.00	\$1,593.00	\$59.00	\$1,593.00		\$0.00	\$0.00
204.0245.03	REMOVING STORM SEWER 6-INCH	186 LF	\$37.00	\$6,882.00	\$37.00	\$6,882.00		\$0.00	\$0.00
204.0291.S.01	ABANDONING SEWER	9 CY	\$335.00	\$3,015.00	\$335.00	\$3,015.00		\$0.00	\$0.00
204.0291.S.02	ABANDONING WATER MAIN 8-INCH	84 CY	\$0.01	\$0.84	\$0.01	\$0.84		\$0.00	\$0.00
204.9060.S.01	REMOVING SANITARY SEWER MANHOLE	3 EACH	\$950.00	\$2,850.00	\$950.00	\$2,850.00		\$0.00	\$0.00
204.9060.S.02	REMOVING WATER VALVE	9 EACH	\$290.00	\$2,610.00	\$290.00	\$2,610.00		\$0.00	\$0.00
204.9060.S.03	REMOVING HYDRANT	3 EACH	\$487.00	\$1,461.00	\$487.00	\$1,461.00		\$0.00	\$0.00
204.9090.S.02	REMOVING WATER MAIN	568 LF	\$89.00	\$50,552.00	\$89.00	\$50,552.00		\$0.00	\$0.00
205.0100	COMMON EXCAVATION	8,346 CY	\$27.77	\$231,768.42	\$22.70	\$189,454.20		\$0.00	\$0.00
208.0100	BORROW	919 CY	\$0.01	\$9.19	\$0.01	\$9.19		\$0.00	\$0.00
213.0100	FINISHING ROADWAY (ALTERNATIVE 1)	1 EACH	\$6,000.00	\$6,000.00	\$5,000.00	\$5,000.00		\$0.00	\$0.00
305.0120	BASE AGGREGATE DENSE 1 1/4-INCH	9,600 TON	\$14.80	\$142,080.00	\$14.00	\$134,400.00		\$0.00	\$0.00
311.0110	BREAKER RUN	8,890 TON	\$15.80	\$140,462.00	\$14.80	\$131,572.00		\$0.00	\$0.00
415.1080	CONCRETE PAVEMENT HES 8-INCH	9,322 SY	\$83.25	\$776,056.50	\$86.44	\$805,793.68		\$0.00	\$0.00
416.0620	DRILLED DOWEL BARS	68 EACH	\$16.50	\$1,122.00	\$25.13	\$1,708.84		\$0.00	\$0.00
455.0605	TACK COAT	482 GAL	\$5.20	\$2,506.40	\$5.20	\$2,506.40		\$0.00	\$0.00
460.2000	INCENTIVE DENSITY HMA PAVEMENT	1,020 DOL	\$0.01	\$10.20	\$1.00	\$1,020.00		\$0.00	\$0.00
460.5223	HMA PAVEMENT 3 LT 58-28S	686 TON	\$139.90	\$95,971.40	\$139.90	\$95,971.40		\$0.00	\$0.00
460.5224	HMA PAVEMENT 4 LT 58-28S	899 TON	\$157.75	\$141,817.25	\$157.75	\$141,817.25		\$0.00	\$0.00
465.0120	ASPHALTIC SURFACE DRIVEWAYS & FIELD ENTRANCES	138 TON	\$157.75	\$21,769.50	\$157.75	\$21,769.50		\$0.00	\$0.00
465.0125	ASPHALTIC SURFACE TEMPORARY	377 TON	\$128.70	\$48,519.90	\$128.70	\$48,519.90		\$0.00	\$0.00
601.0405	CONCRETE CURB AND GUTTER 18-INCH TYPE A	3,537 LF	\$24.15	\$85,418.55	\$25.40	\$89,839.80		\$0.00	\$0.00
601.0407	CONCRETE CURB AND GUTTER 18-INCH TYPE D	1,616 LF	\$32.45	\$52,439.20	\$32.45	\$52,439.20		\$0.00	\$0.00

601.0409	CONCRETE CURB AND GUTTER 30-INCH TYPE A	972 LF	\$31.15	\$30,277.80	\$31.15	\$30,277.80	\$0.00	\$0.00
602.0410	CONCRETE SIDEWALK 5-INCH	38,853 SF	\$6.80	\$264,200.40	\$6.50	\$252,544.50	\$0.00	\$0.00
602.0505	CURB RAMP DETECTABLE WARNING FIELD YELLOW	480 SF	\$35.00	\$16,800.00	\$35.00	\$16,800.00	\$0.00	\$0.00
602.0860	CONCRETE DRIVEWAY HES 6-INCH	117 SY	\$72.00	\$8,424.00	\$71.00	\$8,307.00	\$0.00	\$0.00
603.8000	CONCRETE BARRIER TEMPORARY PRECAST DELIVERED	675 LF	\$6.00	\$4,050.00	\$20.00	\$13,500.00	\$0.00	\$0.00
603.8125	CONCRETE BARRIER TEMPORARY PRECAST INSTALLED	675 LF	\$14.00	\$9,450.00	\$15.00	\$10,125.00	\$0.00	\$0.00
608.0324	STORM SEWER PIPE CLASS III-A 24-INCH	158 LF	\$192.00	\$30,336.00	\$192.00	\$30,336.00	\$0.00	\$0.00
608.0327	STORM SEWER PIPE CLASS III-A 27-INCH	189 LF	\$217.00	\$41,013.00	\$217.00	\$41,013.00	\$0.00	\$0.00
608.0300	STORM SEWER PIPE CLASS III-A 30-INCH	251 LF	\$234.00	\$58,734.00	\$234.00	\$58,734.00	\$0.00	\$0.00
608.0412	STORM SEWER PIPE CLASS IV 12-INCH	1,141 LF	\$137.00	\$156,317.00	\$137.00	\$156,317.00	\$0.00	\$0.00
608.0415	STORM SEWER PIPE CLASS IV 15-INCH	109 LF	\$126.00	\$13,734.00	\$126.00	\$13,734.00	\$0.00	\$0.00
608.0418	STORM SEWER PIPE CLASS IV 18-INCH	199 LF	\$141.00	\$28,059.00	\$141.00	\$28,059.00	\$0.00	\$0.00
608.0424	STORM SEWER PIPE CLASS IV 24-INCH	123 LF	\$219.00	\$26,937.00	\$219.00	\$26,937.00	\$0.00	\$0.00
608.6012	STORM SEWER PIPE COMPOSITE 12-INCH	336 LF	\$132.00	\$44,352.00	\$132.00	\$44,352.00	\$0.00	\$0.00
611.0420	RECONSTRUCTING MANHOLES	1 EACH	\$2,790.00	\$2,790.00	\$2,790.00	\$2,790.00	\$0.00	\$0.00
611.0430	RECONSTRUCTING INLETS	6 EACH	\$2,094.00	\$12,564.00	\$2,094.00	\$12,564.00	\$0.00	\$0.00
611.0530	MANHOLE COVERS TYPE J	9 EACH	\$625.00	\$5,625.00	\$625.00	\$5,625.00	\$0.00	\$0.00
611.0606	INLET COVERS TYPE B	4 EACH	\$978.00	\$3,912.00	\$978.00	\$3,912.00	\$0.00	\$0.00
611.0624	INLET COVERS TYPE H	33 EACH	\$926.00	\$30,558.00	\$926.00	\$30,558.00	\$0.00	\$0.00
611.0639	INLET COVERS TYPE H-S	7 EACH	\$926.00	\$6,482.00	\$926.00	\$6,482.00	\$0.00	\$0.00
611.2003	MANHOLES 3-FT DIAMETER	1 EACH	\$4,235.00	\$4,235.00	\$4,235.00	\$4,235.00	\$0.00	\$0.00
611.2005	MANHOLES 5-FT DIAMETER	7 EACH	\$8,015.00	\$56,105.00	\$8,015.00	\$56,105.00	\$0.00	\$0.00
611.2006	MANHOLES 6-FT DIAMETER	2 EACH	\$8,980.00	\$17,960.00	\$8,980.00	\$17,960.00	\$0.00	\$0.00
611.3004	INLETS 4-FT DIAMETER	2 EACH	\$4,685.00	\$9,370.00	\$4,685.00	\$9,370.00	\$0.00	\$0.00
611.3230	INLETS 2X3-FT EACH	37 EACH	\$3,872.00	\$143,264.00	\$3,872.00	\$143,264.00	\$0.00	\$0.00
612.0206	PIPE UNDERDRAIN UNPERFORATED 6-INCH	735 LF	\$98.00	\$72,030.00	\$50.00	\$36,750.00	\$0.00	\$0.00
619.1000	MOBILIZATION - 10% MAXIMUM OF ALTERNATE 1 TOTAL	1 EACH	\$350,000.00	\$350,000.00	\$336,450.00	\$336,450.00	\$0.00	\$0.00
624.0100	WATER	113 MGAL	\$0.01	\$1.13	\$100.00	\$11,300.00	\$0.00	\$0.00
625.0100	TOPSOIL	2,044 SY	\$5.50	\$11,242.00	\$8.00	\$16,352.00	\$0.00	\$0.00
628.1504	SILT FENCE	670 LF	\$2.00	\$1,340.00	\$3.00	\$2,010.00	\$0.00	\$0.00
628.1520	SILT FENCE MAINTENANCE	670 LF	\$0.25	\$167.50	\$0.35	\$234.50	\$0.00	\$0.00
628.1905	MOBILIZATIONS EROSION CONTROL	6 EACH	\$350.00	\$2,100.00	\$200.00	\$1,200.00	\$0.00	\$0.00
628.1910	MOBILIZATIONS EMERGENCY EROSION CONTROL	4 EACH	\$200.00	\$800.00	\$150.00	\$600.00	\$0.00	\$0.00
628.2006	EROSION MAT URBAN CLASS I TYPE A	2,044 SY	\$2.20	\$4,496.80	\$2.00	\$4,088.00	\$0.00	\$0.00
628.7015	INLET PROTECTION TYPE C	27 EACH	\$60.00	\$1,620.00	\$66.00	\$1,782.00	\$0.00	\$0.00

March Marc									
COLUMN 1.50	628.7020	INLET PROTECTION TYPE D	12 EACH	\$150.00	\$1,800.00	\$125.00	\$1,500.00	\$0.00	\$0.00
BOURDON SEED WATER 48 MGAL \$1,00 \$46,00 \$1,00 \$60,00 \$1,00 \$60,00	629.0210		1 CWT	\$165.00	\$165.00	\$120.00	\$120.00	\$0.00	\$0.00
637.122 SIGNET TYPE REPLECTIVE SH	630.0140	SEEDING MIXTURE #40	36 LB	\$11.00	\$396.00	\$9.65	\$347.40	\$0.00	\$0.00
STATE STAT	630.0500	SEED WATER	45 MGAL	\$1.00	\$45.00	\$35.00	\$1,575.00	\$0.00	\$0.00
BALLETIN SALES S	637.1220	SIGNS TYPE I REFLECTIVE SH	126 SF	\$34.00	\$4,284.00	\$65.50	\$8,253.00	\$0.00	\$0.00
Bill 2022 REMOVING SIGNS TYPE 49 EACH \$50.00 \$2,450.00 \$1,000.00 \$1,000.00 \$0.00 \$1,000.00 \$1	637.2210		393 SF	\$33.00	\$12,969.00	\$62.50	\$24,562.50	\$0.00	\$0.00
693.000 REMOVING SMALL SIGN SUPPORTS 8 EACH \$75.00 \$800.00 \$40.00 \$300.00 \$30.00 \$0.00 \$30.00 \$0.00 \$30.0	638.2102	MOVING SIGNS TYPE II	15 EACH	\$100.00	\$1,500.00	\$90.00	\$1,350.00	\$0.00	\$0.00
693.010 REMOVING STRUCTURAL STEEL SIGN SUPPORTS 39 EACH \$250.00 \$8,750.00 \$18,000.00 \$18,000.00 \$18,000.00 \$10,000.00	638.2602	REMOVING SIGNS TYPE II	49 EACH	\$50.00	\$2,450.00	\$40.00	\$1,960.00	\$0.00	\$0.00
642,0001 FIELD OFFICE TYPE B	638.3000	REMOVING SMALL SIGN SUPPORTS	8 EACH	\$75.00	\$600.00	\$40.00	\$320.00	\$0.00	\$0.00
643,0300 TRAFFIC CONTROL BARRICADES TYPE III 1,997 DAY \$1.00 \$1,997 DAY \$1.00 \$	638.3100	REMOVING STRUCTURAL STEEL SIGN SUPPORTS	39 EACH	\$250.00	\$9,750.00	\$125.00	\$4,875.00	\$0.00	\$0.00
643,0420 TRAFFIC CONTROL BARRICADES TYPE III 1,997 DAY \$1.00 \$1,907.00 \$1.00 \$1,907.00 \$0.00	642.5001	FIELD OFFICE TYPE B	1 EACH	\$1,000.00	\$1,000.00	\$18,000.00	\$18,000.00	\$0.00	\$0.00
G43,0765 TRAFFIC CONTROL WARNING LIGHTS TYPE A 2,369 DAY \$0.50 \$1,179.50 \$0.50 \$1,179.50 \$0.00	643.0300	TRAFFIC CONTROL DRUMS	27,397 DAY	\$0.35	\$9,588.95	\$0.35	\$9,588.95	\$0.00	\$0.00
G43.0715 TRAFFIC CONTROL WARNING LIGHTS TYPE C 5,969 DAY \$0.50 \$2,984.50 \$0.00 \$	643.0420	TRAFFIC CONTROL BARRICADES TYPE III	1,997 DAY	\$1.00	\$1,997.00	\$1.00	\$1,997.00	\$0.00	\$0.00
643.0800 TRAFFIC CONTROL ARROW BOARD 53 DAY \$25.00 \$1.325.00 \$0.00	643.0705	TRAFFIC CONTROL WARNING LIGHTS TYPE A	2,359 DAY	\$0.50	\$1,179.50	\$0.50	\$1,179.50	\$0.00	\$0.00
G43.0900 TRAFFIC CONTROL SIGNS	643.0715	TRAFFIC CONTROL WARNING LIGHTS TYPE C	5,969 DAY	\$0.50	\$2,984.50	\$0.50	\$2,984.50	\$0.00	\$0.00
643.3105 TEMPORARY MARKING LINE PAINT 4-INCH 4.377 LF \$4.25 \$18,602.25 \$4.25 \$18,602.25 \$0.00 \$5	643.0800	TRAFFIC CONTROL ARROW BOARD	53 DAY	\$25.00	\$1,325.00	\$25.00	\$1,325.00	\$0.00	\$0.00
643.3150 REMOVABLE TAPE 4-INCH WHITE 184 LF \$1.00 \$184.00 \$1.00 \$184.00.00 \$14,000.00 \$14,000.00 \$14,000.00 \$0.00	643.0900	TRAFFIC CONTROL SIGNS	4,491 DAY	\$0.55	\$2,470.05	\$0.55	\$2,470.05	\$0.00	\$0.00
B43.500 TRAFFIC CONTROL 1 EACH \$14,000.00 \$14,000.00 \$14,000.00 \$14,000.00 \$0.	643.3105	TEMPORARY MARKING LINE PAINT 4-INCH	4,377 LF	\$4.25	\$18,602.25	\$4.25	\$18,602.25	\$0.00	\$0.00
644.1410 TEMPORARY PEDESTRIAN SURFACE ASPHALT 940 SF \$10.00 \$9,400.00 \$13.00 \$12,220.00 \$0.00 \$0.00 644.1601 TEMPORARY PEDESTRIAN CURB RAMP 431 DAY \$15.00 \$6,465.00 \$15.00 \$6,465.00 \$0.00 \$0.00 644.1605 TEMPORARY PEDESTRIAN DETECTABLE WARNING FIELD 97 SF \$15.00 \$1,455.00 \$1,455.00 \$0.00 </td <td>643.3150</td> <td>REMOVABLE TAPE 4-INCH WHITE</td> <td>184 LF</td> <td>\$1.00</td> <td>\$184.00</td> <td>\$1.00</td> <td>\$184.00</td> <td>\$0.00</td> <td>\$0.00</td>	643.3150	REMOVABLE TAPE 4-INCH WHITE	184 LF	\$1.00	\$184.00	\$1.00	\$184.00	\$0.00	\$0.00
644.1601 TEMPORARY PEDESTRIAN CURB RAMP 431 DAY \$15.00 \$6.465.00 \$15.00 \$6.465.00 \$0	643.5000	TRAFFIC CONTROL	1 EACH	\$14,000.00	\$14,000.00	\$14,000.00	\$14,000.00	\$0.00	\$0.00
644.1605 TEMPORARY PEDESTRIAN DETECTABLE WARNING FIELD 97 SF \$15.00 \$1.455.00 \$15.00 \$1.455.00 \$0.00 \$	644.1410	TEMPORARY PEDESTRIAN SURFACE ASPHALT	940 SF	\$10.00	\$9,400.00	\$13.00	\$12,220.00	\$0.00	\$0.00
644.1810 TEMPORARY PEDESTRIAN BARRICADE 4,969 LF \$5.50 \$27,329.50 \$5.50 \$27,329.50 \$0.00 \$	644.1601	TEMPORARY PEDESTRIAN CURB RAMP	431 DAY	\$15.00	\$6,465.00	\$15.00	\$6,465.00	\$0.00	\$0.00
645.0140 GEOTEXTILE FABRIC TYPE SAS 4,390 SY \$2.50 \$10,975.00 \$5.00 \$21,950.00 \$0.00	644.1605	TEMPORARY PEDESTRIAN DETECTABLE WARNING FIELD	97 SF	\$15.00	\$1,455.00	\$15.00	\$1,455.00	\$0.00	\$0.00
646.1020 MARKNIG LINE EPOXY 4-INCH WHITE	644.1810	TEMPORARY PEDESTRIAN BARRICADE	4,969 LF	\$5.50	\$27,329.50	\$5.50	\$27,329.50	\$0.00	\$0.00
646.3020 MARKING LINE EPOXY 8-INCH WHITE 100 LF \$4.50 \$450.00 \$4.50 \$450.00 \$0	645.0140	GEOTEXTILE FABRIC TYPE SAS	4,390 SY	\$2.50	\$10,975.00	\$5.00	\$21,950.00	\$0.00	\$0.00
646.5220 MARKING SYMBOL EPOXY 2 EACH \$175.00 \$350.00 \$175.00 \$350.00 \$0.00 \$0.00 646.7420 MARKING CROSSWALK EPOXY TRANSVERSE LINE 6-INCH 1,248 LF \$12.00 \$14,976.00 \$12.00 \$14,976.00 \$0.00 \$0.00 646.8320 MARKING PARKING STALL EPOXY YELLOW 5,322 LF \$5.00 \$26,610.00 \$5.00 \$26,610.00 \$0.00 \$0.00 646.9000 MARKING REMOVAL LINE 4-INCH 4,275 LF \$2.25 \$9,618.75 \$2.25 \$9,618.75 \$0.00 \$0.00 650.4000 CONSTRUCTION STAKING STORM SEWER 58 EACH \$48.00 \$2,784.00 \$150.00 \$8,700.00 \$0.00 \$0.00 650.4500 CONSTRUCTION STAKING SUBGRADE 2,653 LF \$0.01 \$26.53 \$0.75 \$1,989.75 \$0.00 \$0.00 650.5000 CONSTRUCTION STAKING BASE 394 LF \$1.65 \$650.10 \$1.75 \$689.50 \$0.00 \$0.00	646.1020	MARKNIG LINE EPOXY 4-INCH WHITE	1,454 LF	\$4.25	\$6,179.50	\$4.25	\$6,179.50	\$0.00	\$0.00
646.7420 MARKING CROSSWALK EPOXY TRANSVERSE LINE 6-INCH 1,248 LF \$12.00 \$14,976.00 \$12.00 \$14,976.00 \$0.00 \$	646.3020	MARKING LINE EPOXY 8-INCH WHITE	100 LF	\$4.50	\$450.00	\$4.50	\$450.00	\$0.00	\$0.00
646.8320 MARKING PARKING STALL EPOXY YELLOW 5,322 LF \$5.00 \$26,610.00 \$5.00 \$26,610.00 \$0.00	646.5220	MARKING SYMBOL EPOXY	2 EACH	\$175.00	\$350.00	\$175.00	\$350.00	\$0.00	\$0.00
646.9000 MARKING REMOVAL LINE 4-INCH 4,275 LF \$2.25 \$9,618.75 \$2.25 \$9,618.75 \$0.00 \$0. 650.4000 CONSTRUCTION STAKING STORM SEWER 58 EACH \$48.00 \$2,784.00 \$150.00 \$8,700.00 \$0.00 \$0. 650.4500 CONSTRUCTION STAKING SUBGRADE 2,653 LF \$0.01 \$26.53 \$0.75 \$1,989.75 \$0.00 \$0. 650.5000 CONSTRUCTION STAKING BASE 394 LF \$1.65 \$650.10 \$1.75 \$689.50 \$0.00 \$0.	646.7420	MARKING CROSSWALK EPOXY TRANSVERSE LINE 6-INCH	1,248 LF	\$12.00	\$14,976.00	\$12.00	\$14,976.00	\$0.00	\$0.00
650.4000 CONSTRUCTION STAKING STORM SEWER 58 EACH \$48.00 \$2,784.00 \$150.00 \$8,700.00 \$0	646.8320	MARKING PARKING STALL EPOXY YELLOW	5,322 LF	\$5.00	\$26,610.00	\$5.00	\$26,610.00	\$0.00	\$0.00
650.4500 CONSTRUCTION STAKING SUBGRADE 2,653 LF \$0.01 \$26.53 \$0.75 \$1,989.75 \$0.00 \$0. 650.5000 CONSTRUCTION STAKING BASE 394 LF \$1.65 \$650.10 \$1.75 \$689.50 \$0.00 \$0.	646.9000	MARKING REMOVAL LINE 4-INCH	4,275 LF	\$2.25	\$9,618.75	\$2.25	\$9,618.75	\$0.00	\$0.00
650.5000 CONSTRUCTION STAKING BASE 394 LF \$1.65 \$650.10 \$1.75 \$689.50 \$0.00 \$0.	650.4000	CONSTRUCTION STAKING STORM SEWER	58 EACH	\$48.00	\$2,784.00	\$150.00	\$8,700.00	\$0.00	\$0.00
	650.4500	CONSTRUCTION STAKING SUBGRADE	2,653 LF	\$0.01	\$26.53	\$0.75	\$1,989.75	\$0.00	\$0.00
650.5500 CONSTRUCTION STAKING CURB AND GUTTER 6,125 LF \$0.69 \$4,226.25 \$1.50 \$9,187.50 \$0.00 \$0.	650.5000	CONSTRUCTION STAKING BASE	394 LF	\$1.65	\$650.10	\$1.75	\$689.50	\$0.00	\$0.00
	650.5500	CONSTRUCTION STAKING CURB AND GUTTER	6,125 LF	\$0.69	\$4,226.25	\$1.50	\$9,187.50	\$0.00	\$0.00

650.7000	CONSTRUCTION STAKING CONCRETE PAVEMENT	2,268 LF	\$1.31	\$2,971.08	\$2.36	\$5,352.48	\$0.00	\$0.00
650.9000	CONSTRUCTION STAKING CURB RAMPS	15 EACH	\$125.00	\$1,875.00	\$250.00	\$3,750.00	\$0.00	\$0.00
650.9920	CONSTRUCTION STAKING SLOPE STAKES	1,321 LF	\$1.20	\$1,585.20	\$1.65	\$2,179.65	\$0.00	\$0.00
690.0150	SAWING ASPHALT	1,615 LF	\$3.00	\$4,845.00	\$1.75	\$2,826.25	\$0.00	\$0.00
690.0250	SAWING CONCRETE	1,680 LF	\$3.00	\$5,040.00	\$2.55	\$4,284.00	\$0.00	\$0.00
SPV.0035.01	RIVER ROCK 3-INCH	27 CY	\$250.00	\$6,750.00	\$300.00	\$8,100.00	\$0.00	\$0.00
SPV.0060.03	CONCRETE BOLLARDS	8 LF	\$200.00	\$1,600.00	\$1,000.00	\$8,000.00	\$0.00	\$0.00
SPV.0060.09	WATER MAIN BEND 22.5 DEGREE 10-INCH	1 EACH	\$1,211.00	\$1,211.00	\$1,211.00	\$1,211.00	\$0.00	\$0.00
SPV.0060.13	WATER MAIN REDUCER 10X6-INCH	1 EACH	\$982.00	\$982.00	\$982.00	\$982.00	\$0.00	\$0.00
SPV.0060.16	WATER MAIN VALVE AND BOX 6-INCH	1 EACH	\$2,462.00	\$2,462.00	\$2,462.00	\$2,462.00	\$0.00	\$0.00
SPV.0060.19	FIRE HYDRANT	3 EACH	\$7,363.00	\$22,089.00	\$7,363.00	\$22,089.00	\$0.00	\$0.00
SPV.0060.20	CONNECT TO EXISTING WATERMAIN	6 EACH	\$6,870.00	\$41,220.00	\$6,870.00	\$41,220.00	\$0.00	\$0.00
SPV.0060.21	GROUND HYDRANT	11 EACH	\$3,877.00	\$42,647.00	\$3,877.00	\$42,647.00	\$0.00	\$0.00
SPV.0060.22	WATER METER IN UNDERGROUND VAULT	1 EACH	\$9,995.00	\$9,995.00	\$9,995.00	\$9,995.00	\$0.00	\$0.00
SPV.0060.25	PORTABLE SIGN BASE	3 EACH	\$700.00	\$2,100.00	\$350.00	\$1,050.00	\$0.00	\$0.00
SPV.0060.26	SALVAGE EXISTING PORTABLE BASE	3 EACH	\$250.00	\$750.00	\$100.00	\$300.00	\$0.00	\$0.00
SPV.0060.27	SIGN SUPPORT 2X2-IN 12-FT	3 EACH	\$820.00	\$2,460.00	\$740.00	\$2,220.00	\$0.00	\$0.00
SPV.0060.28	SIGN SUPPORT 2X2-IN 14-FT	4 EACH	\$830.00	\$3,320.00	\$760.00	\$3,040.00	\$0.00	\$0.00
SPV.0060.29	SIGN SUPPORT 2X2-IN 16-FT	8 EACH	\$860.00	\$6,880.00	\$780.00	\$6,240.00	\$0.00	\$0.00
SPV.0060.30	SIGN SUPPORT 3X3-IN 14-FT	14 EACH	\$900.00	\$12,600.00	\$1,150.00	\$16,100.00	\$0.00	\$0.00
SPV.0060.31	SIGN SUPPORT 3X3-IN 18-FT	3 EACH	\$1,000.00	\$3,000.00	\$1,160.00	\$3,480.00	\$0.00	\$0.00
SPV.0060.38	EXTERIOR INTERNALLY LIT FLAG MOUNTED SIGN	3 EACH	\$9,600.00	\$28,800.00	\$9,600.00	\$28,800.00	\$0.00	\$0.00
SPV.0060.39	MODIFY EXISTING OVERHEAD SIGN	2 EACH	\$800.00	\$1,600.00	\$250.00	\$500.00	\$0.00	\$0.00
SPV.0060.40	PIPE TAP 4X12	7 EACH	\$943.00	\$6,601.00	\$943.00	\$6,601.00	\$0.00	\$0.00
SPV.0060.41	WATER MAIN REDUCER 10X8-INCH	7 EACH	\$1,050.00	\$7,350.00	\$1,050.00	\$7,350.00	\$0.00	\$0.00
SPV.0075.01	STREET SWEEPING	600 HRS	\$0.01	\$6.00	\$175.00	\$105,000.00	\$0.00	\$0.00
SPV.0090.01	STORM SEWER C900 12-INCH	77 LF	\$154.00	\$11,858.00	\$154.00	\$11,858.00	\$0.00	\$0.00
SPV.0090.07	WATER MAIN 6-INCH	31 LF	\$149.00	\$4,619.00	\$149.00	\$4,619.00	\$0.00	\$0.00
SPV.0090.08	WATER MAIN 10-INCH	66 LF	\$244.00	\$16,104.00	\$244.00	\$16,104.00	\$0.00	\$0.00
SPV.0090.09	WATER SERVICE 1-INCH	1,241 LF	\$99.00	\$122,859.00	\$99.00	\$122,859.00	\$0.00	\$0.00
BS:200	REMOVE ELECTRICAL WIRING #6	7 CLF	\$85.00	\$595.00	\$85.00	\$595.00	\$0.00	\$0.00
BS:201	REMOVE ELECTRICAL WIRING #4 7.05	7 CLF	\$114.00	\$798.00	\$114.00	\$798.00	\$0.00	\$0.00
BS:202	REMOVE ELECTRICAL WIRING #2 4.5	5 CLF	\$340.00	\$1,700.00	\$340.00	\$1,700.00	\$0.00	\$0.00
BS:203	REMOVE SINGLE-HEAD LUMINAIRE, POLE, AND BASE	3 EA	\$665.00	\$1,995.00	\$665.00	\$1,995.00	\$0.00	\$0.00
BS:204	REMOVE TRIPLE-HEAD LUMINAIRE, POLE, AND BASE	2 EA	\$725.00	\$1,450.00	\$725.00	\$1,450.00	\$0.00	\$0.00

BS:205 DEMOLISHING RIGID NON-METALLIC, SCHEDULE 40, 2-INCH 1,283 LF	\$3.35 \$260.00 \$5,000.00 \$5,400.00 \$704.50 \$8.29 \$203.00 \$7,970.00 \$7,970.00 \$2,015.00 \$2,015.00	\$4,298.05 \$520.00 \$5,000.00 \$10,800.00 \$94,403.00 \$31,502.00 \$1,827.00 \$31,880.00 \$19,340.00 \$6,900.00 \$20,150.00	\$3.35 \$260.00 \$5,000.00 \$5,400.00 \$704.50 \$8.29 \$203.00 \$7,970.00 \$9,670.00 \$3,450.00 \$2,015.00	\$4,298.05 \$520.00 \$5,000.00 \$10,800.00 \$94,403.00 \$31,502.00 \$1,827.00 \$31,880.00 \$19,340.00 \$6,900.00	\$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00
BS:207 INSTALL RELOCATED LUMINAIRE: POLE, SINGLE HEAD ON NEW CONCRETE BASE	\$5,000.00 \$5,400.00 \$704.50 \$8.29 \$203.00 \$7,970.00 \$700.00 \$3,450.00 \$2,015.00	\$5,000.00 \$10,800.00 \$94,403.00 \$31,502.00 \$1,827.00 \$31,880.00 \$19,340.00 \$6,900.00 \$20,150.00	\$5,000.00 \$5,400.00 \$704.50 \$8.29 \$203.00 \$7,970.00 \$9,670.00 \$3,450.00	\$5,000.00 \$10,800.00 \$94,403.00 \$31,502.00 \$1,827.00 \$31,880.00 \$19,340.00 \$6,900.00	\$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00
BS:207 CONCRETE BASE 1 EA	\$5,400.00 \$704.50 \$8.29 \$203.00 \$7,970.00 \$9,670.00 \$700.00 \$3,450.00 \$2,015.00	\$10,800.00 \$94,403.00 \$31,502.00 \$1,827.00 \$31,880.00 \$19,340.00 \$6,900.00 \$20,150.00	\$5,400.00 \$704.50 \$8.29 \$203.00 \$7,970.00 \$9,670.00 \$700.00	\$10,800.00 \$94,403.00 \$31,502.00 \$1,827.00 \$31,880.00 \$19,340.00 \$1,400.00	\$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00
BS:208 CONCRETE BASE. 2 EA	\$704.50 \$8.29 \$203.00 \$7,970.00 \$7,970.00 \$700.00 \$2,015.00 \$2,055.00	\$94,403.00 \$31,502.00 \$1,827.00 \$31,880.00 \$19,340.00 \$1,400.00 \$6,900.00 \$20,150.00	\$704.50 \$8.29 \$203.00 \$7,970.00 \$9,670.00 \$3,450.00	\$94,403.00 \$31,502.00 \$1,827.00 \$31,880.00 \$19,340.00 \$1,400.00	\$0.00 \$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00 \$0.00
BS:219	\$8.29 \$203.00 \$7,970.00 \$9,670.00 \$700.00 \$3,450.00 \$2,015.00	\$31,502.00 \$1,827.00 \$31,880.00 \$19,340.00 \$1,400.00 \$6,900.00 \$20,150.00	\$8.29 \$203.00 \$7,970.00 \$9,670.00 \$700.00	\$31,502.00 \$1,827.00 \$31,880.00 \$19,340.00 \$1,400.00 \$6,900.00	\$0.00 \$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00 \$0.00
BS:211 ELECTRICAL WIRING: #6 XHHW 9 CLF	\$203.00 \$7,970.00 \$9,670.00 \$700.00 \$3,450.00 \$2,015.00 \$2,055.00	\$1,827.00 \$31,880.00 \$19,340.00 \$1,400.00 \$6,900.00 \$20,150.00	\$203.00 \$7,970.00 \$9,670.00 \$700.00 \$3,450.00	\$1,827.00 \$31,880.00 \$19,340.00 \$1,400.00 \$6,900.00	\$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00
BS:211 8.6 9 CLF	\$7,970.00 \$9,670.00 \$700.00 \$3,450.00 \$2,015.00 \$2,055.00	\$31,880.00 \$19,340.00 \$1,400.00 \$6,900.00 \$20,150.00	\$7,970.00 \$9,670.00 \$700.00 \$3,450.00	\$31,880.00 \$19,340.00 \$1,400.00 \$6,900.00	\$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00
BS:212 SCHEDULE	\$9,670.00 \$700.00 \$3,450.00 \$2,015.00 \$2,055.00	\$19,340.00 \$1,400.00 \$6,900.00 \$20,150.00	\$9,670.00 \$700.00 \$3,450.00	\$19,340.00 \$1,400.00 \$6,900.00	\$0.00 \$0.00	\$0.00 \$0.00
BS:215 SCHEDULE 2 EA	\$700.00 \$3,450.00 \$2,015.00 \$2,055.00	\$1,400.00 \$6,900.00 \$20,150.00	\$700.00 \$3,450.00	\$1,400.00 \$6,900.00	\$0.00	\$0.00
BS:215 RECEPTACLE: DUPLEX, WEATHER-PROOF, GFCI 2 EA BS:216 IN-GROUND ELECTRICAL BOX FB-SITE PER FLOOR BOX SCHEDULE 10 EA	\$3,450.00 \$2,015.00 \$2,055.00	\$6,900.00 \$20,150.00	\$3,450.00	\$6,900.00		
BS:216 IN-GROUND ELECTRICAL BOX FB-SITE PER FLOOR BOX SCHEDULE 10 EA	\$2,015.00 \$2,055.00	\$20,150.00			\$0.00	\$0.00
BS:216 SCHEDULE	\$2,055.00		\$2 015 00			I
PS:247 HANDHOLE: 42" V 24" V 24"D			Ψ2,010.00	\$20,150.00	\$0.00	\$0.00
BS:217 HANDHOLE: 13" X 24" X 24"D 3 EA		\$6,165.00	\$2,055.00	\$6,165.00	\$0.00	\$0.00
BS:218 PULL BOX: 24" X 24" X 12"D, WALL-MOUNTED 1 EA	\$16,245.00	\$16,245.00	\$16,245.00	\$16,245.00	\$0.00	\$0.00
BS:219 HANDHOLE: 32" X 28" X 24"D	\$4,350.00	\$4,350.00	\$4,350.00	\$4,350.00	\$0.00	\$0.00
BS:220 CONDUIT: RIGID NON-METALLIC, SCHEDULE 40, 1-INCH 5,140 LF	\$7.70	\$39,578.00	\$7.70	\$39,578.00	\$0.00	\$0.00
BS:221 PV INVERTER 1 EA	\$15,000.00	\$15,000.00	\$18,000.00	\$18,000.00	\$0.00	\$0.00
BS:222 FLOOR-MOUNTED FREE STANDING SUPPORT STRUCTURE 1 EA	\$4,000.00	\$4,000.00	\$4,000.00	\$4,000.00	\$0.00	\$0.00
BS:223 PANELBOARD PER PANEL SCHEDULE 2 EA	\$5,600.00	\$11,200.00	\$5,600.00	\$11,200.00	\$0.00	\$0.00
BS:224 RECEPTACLE: DUPLEX GFCI 3 EA	\$3,500.00	\$10,500.00	\$3,500.00	\$10,500.00	\$0.00	\$0.00
BS:225 DISCONNECT SWITCH: 400AS, 250AF, NEMA 3R 1 EA	\$4,000.00	\$4,000.00	\$4,600.00	\$4,600.00	\$0.00	\$0.00
BS:226 ELECTRICAL WIRING: #250 XHHW 6 CLF	\$1,300.00	\$7,800.00	\$1,580.00	\$9,480.00	\$0.00	\$0.00
BS:227 ELECTRICAL WIRING: #4 XHHW 1 CLF	\$400.00	\$400.00	\$460.00	\$460.00	\$0.00	\$0.00
BS:228 CONDUIT: RIGID NON-METALLIC, SCHEDULE 40, 3-INCH 140 LF	\$15.00	\$2,100.00	\$19.00	\$2,660.00	\$0.00	\$0.00
BS:229 ELECTRICAL WIRING: #3 XHHW 14 CLF	\$460.70	\$6,449.80	\$460.70	\$6,449.80	\$0.00	\$0.00
BS:230 ELECTRICAL WIRING: #8 XHHW 4 CLF	\$196.45	\$785.80	\$196.45	\$785.80	\$0.00	\$0.00
BS:231 ELECTRICAL WIRING: #12 THWN-THHN 25 CLF	\$79.45	\$1,986.25	\$79.45	\$1,986.25	\$0.00	\$0.00
BS:232 CONDUIT: RIGID NON-METALLIC, SCHEDULE 40, 1-1/4-INCH 253 LF	\$16.45	\$4,161.85	\$16.45	\$4,161.85	\$0.00	\$0.00
BS:233 INSTALL (384) RELOCATED PV MODULES, RACKING ,BALLASTS, COMBINER BOXES AND WIRING. 1 LS \$	\$295,000.00	\$295,000.00	\$305,000.00	\$305,000.00	\$0.00	\$0.00
BS:234 CONDUIT: ELECTRICAL METALLIC CONDUIT (EMT), 1/2 INCH 735 LF	\$14.40	\$10,584.00	\$14.40	\$10,584.00	\$0.00	\$0.00
BS:235 ELECTRICAL WIRING: #10 THHN-THWN 20 CLF	\$103.50	\$2,070.00	\$103.50	\$2,070.00	\$0.00	\$0.00
BS:236 CONDUIT: RIGID NON-METALLIC, SCHEDULE 40, 1-INCH 1,010 LF	\$22.70	\$22,927.00	\$22.70	\$22,927.00	\$0.00	\$0.00
BS:237 CONDUIT: RIGID NON-METALLIC, SCHEDULE 40, 1-1/4-INCH 510 LF	\$5.40	\$2,754.00	\$5.40	\$2,754.00	\$0.00	\$0.00
BS:238 ELECTRICAL CONDUIT: 1 1/4" RIGID METAL (RMC) 15 LF	\$28.80	\$432.00	\$28.80	\$432.00	\$0.00	\$0.00
BS:239 CONDUIT: ELECTRICAL METALLIC CONDUIT (EMT), 1-1/4-INCH 40 LF	\$19.00	\$760.00	\$19.00	\$760.00	\$0.00	\$0.00

BS:240	ELECTRICAL WIRING: #6 XHHW	12 CLF	\$495.00	\$5,940.00	\$459.00	\$5,508.00	\$0.00	\$0.00
BS:241	ELECTRICAL WIRING: #4 XHHW 8.5	9 CLF	\$2,140.00	\$19,260.00	\$2,140.00	\$19,260.00	\$0.00	\$0.00
BS:242	ELECTRICAL WIRING: #3 XHHW	12 CLF	\$840.00	\$10,080.00	\$840.00	\$10,080.00	\$0.00	\$0.00
BS:243	LUMINAIRE TYPE TMP PER LUMINAIRE SCHEDULE	4 EA	\$7,410.00	\$29,640.00	\$7,410.00	\$29,640.00	\$0.00	\$0.00
BS:244	TRENCHING	11,643 LF	\$2.40	\$27,943.20	\$2.40	\$27,943.20	\$0.00	\$0.00
BS:245	180-DEGREE MULTISENSOR CAMERA + HOUSING/MOUNT	6 EA	\$6,685.00	\$40,110.00	\$6,685.00	\$40,110.00	\$0.00	\$0.00
BS:246	MILESTONE CAMERA LICENSES	6 EA	\$515.00	\$3,090.00	\$515.00	\$3,090.00	\$0.00	\$0.00
BS:247	FIBER MEDIA CONVERTER WITH POE+	6 EA	\$575.00	\$3,450.00	\$575.00	\$3,450.00	\$0.00	\$0.00
BS:248	SINGLE-MODE FIBER TRANSCEIVER	12 EA	\$235.00	\$2,820.00	\$235.00	\$2,820.00	\$0.00	\$0.00
BS:249	CAMERA POLE - 16'	1 EA	\$9,105.00	\$9,105.00	\$9,105.00	\$9,105.00	\$0.00	\$0.00
BS:250	NEMA 4 MEDIA TERMINATION ENCLOSURE	3 EA	\$1,980.00	\$5,940.00	\$1,980.00	\$5,940.00	\$0.00	\$0.00
BS:251	SINGLE-MODE FIBER - 6-STRAND INDOOR/OUTDOOR	1,000 LF	\$12.50	\$12,500.00	\$12.50	\$12,500.00	\$0.00	\$0.00
BS:252	CONDUIT: RIGID NON-METALLIC, SCHEDULE 40, 4 INCH	50 LF	\$160.00	\$8,000.00	\$160.00	\$8,000.00	\$0.00	\$0.00
BS:253	HANDHOLE: 24" X 36" X 24"D	1 EA	\$4,715.00	\$4,715.00	\$4,715.00	\$4,715.00	\$0.00	\$0.00
BS:254	HANDHOLE: 13" X 24" X 24"D	3 EA	\$2,055.00	\$6,165.00	\$2,055.00	\$6,165.00	\$0.00	\$0.00
	ALTERN	ATE 1 - Front Drive Lane		\$4,898,075.59		\$5,043,590.98	\$0.00	\$0.00

DESCRIPTION:			Vinton Construction	Company	Michels Road and Si	tone Inc		0		0
ALTERNATE 2 - L	andscaping of Front Entry		vintori construction	Company	Wildrield Road and O	toric, mo.		ŭ		
Bid Item	Description	Quantity Unit	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total
619.1000	MOBILIZATION - 10% MAXIMUM OF ALTERNATE 2 TOTAL	1 EACH	\$17,000.00	\$17,000.00	\$18,500.00	\$18,500.00		\$0.00		\$0.00
SPV.0035.02	KEYSTONE (BUFF LIMESTONE) 1 1/2-INCH	93 CY	\$125.00	\$11,625.00	\$310.00	\$28,830.00		\$0.00		\$0.00
SPV.0035.03	PLANTING SOIL	28 CY	\$150.00	\$4,200.00	\$200.00	\$5,600.00		\$0.00		\$0.00
SPV.0035.04	PLANTING SOIL FOR PLANTERS	27 CY	\$175.00	\$4,725.00	\$240.00	\$6,480.00		\$0.00		\$0.00
SPV.0060.100	DECIDUOUS TREE, RISING FIRE® BLUE BEECH / CARPINUS CAROLINIANA 'UXBRIDGE', CAL. 2.5"	6 EACH	\$850.00	\$5,100.00	\$900.00	\$5,400.00		\$0.00		\$0.00
SPV.0060.101	DECIDUOUS TREE, IMPERIAL® HONEY LOCUST / GLEDITSIA TRIACANTHOS INERMIS 'IMPCOLE', CAL. 2.5"	2 EACH	\$750.00	\$1,500.00	\$900.00	\$1,800.00		\$0.00		\$0.00
SPV.0060.102	DECIDUOUS SHRUB, CARDINAL DOGWOOD / CORNUS SERICEA 'CARDINAL'. CONT #5	6 EACH	\$85.00	\$510.00	\$140.00	\$840.00		\$0.00		\$0.00
SPV.0060.103	PERENNIALS, MOONSHINE YARROW / ACHILLEA X 'MOONSHINE', CONT., #1	20 EACH	\$40.00	\$800.00	\$38.00	\$760.00		\$0.00		\$0.00
SPV.0060.104	PERENNIALS, BUTTERFLY MILKWEED / ASCLEPIAS TUBEROSA, CONT #1	44 EACH	\$40.00	\$1,760.00	\$38.00	\$1,672.00		\$0.00		\$0.00
SPV.0060.105	PERENNIALS RUSSIAN SAGE / PEROVSKIA ATRIPLICIFOLIA, CONT., #1	8 EACH	\$40.00	\$320.00	\$38.00	\$304.00		\$0.00		\$0.00
SPV.0060.106	PERENNIALS, NEW VINTAGE™ WHITE COMMON YARROW / ACHILLEA MILLEFOLIUM 'BALVINWITE', CONT., #1	48 EACH	\$40.00	\$1,920.00	\$38.00	\$1,824.00		\$0.00		\$0.00
SPV.0060.107	PERENNIALS, DUSSELDORFER STOLZ SEA THRIFT / ARMERIA MARITIMA 'DUSSELDORFER STOLZ', CONT., #1	168 EACH	\$40.00	\$6,720.00	\$38.00	\$6,384.00		\$0.00		\$0.00
SPV.0060.108	PERENNIALS, PURPLE PRAIRIE CLOVER / DALEA PURPUREA, CONT., #1	48 EACH	\$40.00	\$1,920.00	\$38.00	\$1,824.00		\$0.00		\$0.00
SPV.0060.109	PERENNIALS, DELPHINA DARK BLUE BLACK BEE DELPHINIUM / DELPHINIUM ELATUM 'DARK BLUE BLACK BEE', CONT., #1	48 EACH	\$40.00	\$1,920.00	\$38.00	\$1,824.00		\$0.00		\$0.00
SPV.0060.110	PERENNIALS, DELTA DAWN CORAL BELLS / HEUCHERA X	32 EACH	\$40.00	\$1,280.00	\$38.00	\$1,216.00		\$0.00		\$0.00
SPV.0060.111	'DELTA DAWN', CONT., #1 PERENNIALS, MINI EWERSII SEDUM / SEDUM CAUTICOLA 'MINI	24 EACH	\$40.00	\$960.00	\$38.00	\$912.00		\$0.00		\$0.00
SPV.0060.112	EWERSII', CONT., #1 PERENNIALS, COMMANDER HAY HEN-AND-CHICKS / SEMPERVIVUM X 'COMMANDER HAY', CONT., #1	24 EACH	\$40.00	\$960.00	\$38.00	\$912.00		\$0.00		\$0.00
SPV.0060.113	GRASSES, BLACKHAWKS BIG BLUESTEM / ANDROPOGON GERARDII 'BLACKHAWKS'. CONT#1	79 EACH	\$35.00	\$2,765.00	\$42.00	\$3,318.00		\$0.00		\$0.00
SPV.0060.114	GRASSES, BLUE GRAMA GRASS / BOUTELOUA GRACILIS, CONT #1	15 EACH	\$35.00	\$525.00	\$42.00	\$630.00		\$0.00		\$0.00
SPV.0060.115	GRASSES, KARL FOERSTER FEATHER REED GRASS /	48 EACH	\$35.00	\$1,680.00	\$42.00	\$2,016.00		\$0.00		\$0.00
SPV.0060.116	CALAMAGROSTIS X ACUTIFLORA 'KARL FOERSTER', CONT., #1 GRASSES, BEYOND BLUE™ FESCUE / FESTUCA GLAUCA	27 EACH	\$35.00	\$945.00	\$42.00	\$1,134.00		\$0.00		\$0.00
SPV.0060.117	'CASCA11', CONT., #1 GRASSES, CHEYENNE SKY SWITCH GRASS / PANICUM	12 EACH	\$35.00	\$420.00	\$42.00	\$504.00		\$0.00		\$0.00
SPV.0060.118	VIRGATUM 'CHEYENNE SKY', CONT., #1 GRASSES, PRAIRIE DROPSEED / SPOROBOLUS HETEROLEPIS,	36 EACH	\$35.00	\$1,260.00	\$42.00	\$1,512.00		\$0.00		\$0.00
SPV.0060.119	CONT., #1 GRASSES, BLUE ARROWS RUSH / JUNCUS INFLEXUS 'BLUE	16 EACH	\$35.00	\$560.00	\$42.00	\$672.00		\$0.00		\$0.00
SPV.0060.120	ARROWS', CONT., #1 GRASSES, BURGUNDY BUNNY DWARF FOUNTAIN GRASS /	16 EACH	\$35.00	\$560.00	\$42.00	\$672.00		\$0.00		\$0.00
	PENNISETUM ALOPECUROIDES 'BURGUNDY BUNNY', CONT., #1 PLANTER, 36" X 36"	40 EACH	\$3,950.00	\$158,000.00	\$2,810.00	\$112,400.00		\$0.00		\$0.00
SPV.0060.122		2 EACH	\$4,100.00	\$8,200.00	\$3,750.00	\$7,500.00		\$0.00		\$0.00
SPV.0060.123		9 EACH	\$4,850.00	\$43,650.00	\$4,350.00	\$39,150.00		\$0.00		\$0.00
SPV.0060.124	LANDSCAPE BOULDERS	48 EACH	\$400.00	\$19,200.00	\$390.00	\$18,720.00		\$0.00		\$0.00
SPV.0165.03		148 SF	\$30.00	\$4,440.00	\$68.00	\$10,064.00		\$0.00		\$0.00
	ALTERNATE 2 - I	andscaping of Front Entry		\$305,425.00		\$283,374.00		\$0.00		\$0.00
				+300, .20.00		4 200,000		ψ3.00		~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~

DESCRIPTION:		Vinton Construction Company		Michels Road and Stone, Inc.			0		0	
ALTERNATE 3 - Digital Roadway Sign							Ŭ		Ü	
Bid Item	Description	Quantity Unit	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total
619.1000	MOBILIZATION - 10% MAXIMUM OF ALTERNATE 3 TOTAL	1 EACH	\$20,000.00	\$20,000.00	\$12,500.00	\$12,500.00		\$0.00		\$0.00
SPV.0060.23	STRUCTURAL SIGN SUPPORT MODIFICATIONS	1 EACH	\$18,000.00	\$18,000.00	\$15,000.00	\$15,000.00		\$0.00		\$0.00
SPV.0060.24	DIGITAL ROADWAY SIGN EACH	1 EACH	\$165,000.00	\$165,000.00	\$165,000.00	\$165,000.00		\$0.00		\$0.00
SPV.0060.36	MONUMENT SIGN BASE	1 EACH	\$24,500.00	\$24,500.00	\$13,000.00	\$13,000.00		\$0.00		\$0.00
SPV.0060.37	EXTERIOR INTERNALLY LIT DIRECTIONAL MONUMENT SIGN	1 EACH	\$40,695.00	\$40,695.00	\$40,695.00	\$40,695.00		\$0.00		\$0.00
BS:301	REMOVE BRIDGE SIGN LUMINAIRE AND WIRING	2 EA	\$400.00	\$800.00	\$400.00	\$800.00		\$0.00		\$0.00
BS:302	CIRCUIT BREAKER: 100A, 2P, 18KAIC	1 EA	\$866.00	\$866.00	\$866.00	\$866.00		\$0.00		\$0.00
BS:303	JUNCTION BOX: EXTERIOR, WALL-MOUNTED	1 EA	\$1,310.00	\$1,310.00	\$1,310.00	\$1,310.00		\$0.00		\$0.00
BS:304	ELECTRICAL WIRING: #8 XHHW 7.25	7 CLF	\$243.00	\$1,701.00	\$243.00	\$1,701.00		\$0.00		\$0.00
BS:305	ELECTRICAL WIRING: #3 XHHW	12 CLF	\$515.00	\$6,180.00	\$515.00	\$6,180.00		\$0.00		\$0.00
BS:306	CONDUIT: RIGID NON-METALLIC, SCHEDULE 40, 1-INCH	725 LF	\$8.30	\$6,017.50	\$8.30	\$6,017.50		\$0.00		\$0.00
BS:307	H-FRAME SUPPORT PER DETAIL 1/E-501 AND 7/E-501	1 EA	\$9,500.00	\$9,500.00	\$9,500.00	\$9,500.00		\$0.00		\$0.00
BS:l308	MINI POWER-CENTER PER SPECIFICATION 262218	1 EA	\$20,200.00	\$20,200.00	\$20,200.00	\$20,200.00		\$0.00		\$0.00
BS:309	RECEPTACLE: WP/GFCI WITH BRANCH WIRING	1 LS	\$645.00	\$645.00	\$645.00	\$645.00		\$0.00		\$0.00
BS:310	ELECTRICAL WIRING: #4 XHHW	12 CLF	\$720.00	\$8,640.00	\$720.00	\$8,640.00		\$0.00		\$0.00
BS:311	ELECTRICAL CONDUIT: RIGID METAL(RMC), 1 1/4 INCH	25 LF	\$60.00	\$1,500.00	\$60.00	\$1,500.00		\$0.00		\$0.00
BS:312	CONDUIT: RIGID NON-METALLIC, SCHEDULE 40, 1 1/4-INCH	175 LF	\$18.25	\$3,193.75	\$18.25	\$3,193.75		\$0.00		\$0.00
BS:313	DIRECTIOAL BORING	540 LF	\$25.40	\$13,716.00	\$25.40	\$13,716.00		\$0.00		\$0.00
BS:314	PULL BOX "12" X 12" 6" DEEP, NEMA 3R	1 EA	\$380.00	\$380.00	\$380.00	\$380.00		\$0.00		\$0.00
BS:315	CONDUIT: RIGID NON-METALLIC, SCHEDULE 40, 2-INCH 9.25	9 CLF	\$1,790.00	\$16,110.00	\$1,790.00	\$16,110.00		\$0.00		\$0.00
BS:316	HANDHOLE: 13" X 24" X 24"D	2 EA	\$1,905.00	\$3,810.00	\$1,905.00	\$3,810.00		\$0.00		\$0.00
	ALTERNATE 3 - Digital Roadway Sign			\$362,764.25		\$340,764.25		\$0.00		\$0.00

DESCRIPTION: ALTERNATE 4 - Challenger Parking Lot			Vinton Construction Company		Michels Road and Stone, Inc.		0			0
Bid Item	Description	Quantity Unit	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total
204.0150	REMOVING CURB AND GUTTER	55 LF	\$12.64	\$695.20	\$8.00	\$440.00		\$0.00		\$0.00
213.0100	FINISHING ROADWAY (ALTERNATIVE 4)	1 EACH	\$2,500.00	\$2,500.00	\$5,000.00	\$5,000.00		\$0.00		\$0.00
305.0120	BASE AGGREGATE DENSE 1 1/4-INCH	2,110 TON	\$16.45	\$34,709.50	\$13.40	\$28,274.00		\$0.00		\$0.00
455.0605	TACK COAT	250 GAL	\$5.20	\$1,300.00	\$5.20	\$1,300.00		\$0.00		\$0.00
460.2000	INCENTIVE DENSITY HMA PAVEMENT	530 DOL	\$0.01	\$5.30	\$1.00	\$530.00		\$0.00		\$0.00
460.5223	HMA PAVEMENT 3 LT 58-28S	360 TON	\$78.40	\$28,224.00	\$78.40	\$28,224.00		\$0.00		\$0.00

460.5224	HMA PAVEMENT 4 LT 58-28S	460 TON	\$90.45	\$41,607.00	\$90.45	\$41,607.00	\$0.00	\$0.00
465.0105	ASPHALTIC SURFACE	3 TON	\$90.45	\$271.35	\$90.45	\$271.35	\$0.00	\$0.00
601.0407	CONCRETE CURB AND GUTTER 18-INCH TYPE D	71 LF	\$48.00	\$3,408.00	\$48.00	\$3,408.00	\$0.00	\$0.00
601.0411	CONCRETE CURB AND GUTTER 30-INCH TYPE D	55 LF	\$50.00	\$2,750.00	\$50.00	\$2,750.00	\$0.00	\$0.00
602.0405	CONCRETE SIDEWALK 4-INCH	279 SF	\$8.75	\$2,441.25	\$7.75	\$2,162.25	\$0.00	\$0.00
602.0410	CONCRETE SIDEWALK 5-INCH	675 SF	\$9.00	\$6,075.00	\$8.00	\$5,400.00	\$0.00	\$0.00
602.0515	CURB RAMP DETECTABLE WARNING FIELD NATURAL PATINA	30 SF	\$35.00	\$1,050.00	\$35.00	\$1,050.00	\$0.00	\$0.00
611.0420	RECONSTRUCTING MANHOLES	1 EACH	\$2,342.00	\$2,342.00	\$2,342.00	\$2,342.00	\$0.00	\$0.00
611.0430	RECONSTRUCTING INLETS	1 EACH	\$2,992.00	\$2,992.00	\$2,992.00	\$2,992.00	\$0.00	\$0.00
619.1000	MOBILIZATION - 10% MAXIMUM OF ALTERNATE 4 TOTAL	1 EACH	\$30,000.00	\$30,000.00	\$27,125.00	\$27,125.00	\$0.00	\$0.00
624.0100	WATER	13 MGAL	\$20.00	\$260.00	\$100.00	\$1,300.00	\$0.00	\$0.00
625.0100	TOPSOIL	2,163 SY	\$2.72	\$5,883.36	\$8.00	\$17,304.00	\$0.00	\$0.00
628.1504	SILT FENCE	371 LF	\$2.00	\$742.00	\$3.00	\$1,113.00	\$0.00	\$0.00
628.1520	SILT FENCE MAINTENANCE	371 LF	\$0.25	\$92.75	\$0.35	\$129.85	\$0.00	\$0.00
628.1905	MOBILIZATIONS EROSION CONTROL	2 EACH	\$350.00	\$700.00	\$200.00	\$400.00	\$0.00	\$0.00
628.1910	MOBILIZATIONS EMERGENCY EROSION CONTROL	2 EACH	\$200.00	\$400.00	\$150.00	\$300.00	\$0.00	\$0.00
628.2006	EROSION MAT URBAN CLASS I TYPE A	2,163 SY	\$2.20	\$4,758.60	\$2.00	\$4,326.00	\$0.00	\$0.00
628.7005	INLET PROTECTION TYPE A	1 EACH	\$150.00	\$150.00	\$135.00	\$135.00	\$0.00	\$0.00
628.7015	INLET PROTECTION TYPE C	2 EACH	\$60.00	\$120.00	\$66.00	\$132.00	\$0.00	\$0.00
628.7504	TEMPORARY DITCH CHECKS	38 LF	\$10.00	\$380.00	\$8.00	\$304.00	\$0.00	\$0.00
629.0210	FERTILIZER TYPE B 1.64	2 CWT	\$165.00	\$330.00	\$120.00	\$240.00	\$0.00	\$0.00
630.0140	SEEDING MIXTURE #40	47 LB	\$11.00	\$517.00	\$9.65	\$453.55	\$0.00	\$0.00
630.0500	SEED WATER	59 MGAL	\$1.00	\$59.00	\$35.00	\$2,065.00	\$0.00	\$0.00
637.2210	SIGNS TYPE II REFLECTIVE H	12 SF	\$33.00	\$396.00	\$62.50	\$750.00	\$0.00	\$0.00
638.2602	REMOVING SIGNS TYPE II	3 EACH	\$50.00	\$150.00	\$40.00	\$120.00	\$0.00	\$0.00
638.3100	REMOVING STRUCTURAL STEEL SIGN SUPPORTS	3 EACH	\$250.00	\$750.00	\$125.00	\$375.00	\$0.00	\$0.00
643.0300	TRAFFIC CONTROL DRUMS	456 DAY	\$0.35	\$159.60	\$0.35	\$159.60	\$0.00	\$0.00
643.0900	TRAFFIC CONTROL SIGNS	247 DAY	\$1.00	\$247.00	\$1.00	\$247.00	\$0.00	\$0.00
643.5000	TRAFFIC CONTROL	1 EACH	\$16,800.00	\$16,800.00	\$12,800.00	\$12,800.00	\$0.00	\$0.00
646.7520	MARKING CROSSWALK EPOXY BLOCK STYLE 24-INCH	65 LF	\$22.00	\$1,430.00	\$22.00	\$1,430.00	\$0.00	\$0.00
646.8320	MARKING PARKING STALL EPOXY YELLOW	2,082 LF	\$4.50	\$9,369.00	\$4.50	\$9,369.00	\$0.00	\$0.00
650.4000	CONSTRUCTION STAKING STORM SEWER	2 EACH	\$100.00	\$200.00	\$150.00	\$300.00	\$0.00	\$0.00
650.4500	CONSTRUCTION STAKING SUBGRADE	325 LF	\$0.01	\$3.25	\$1.55	\$503.75	\$0.00	\$0.00
650.5000	CONSTRUCTION STAKING BASE	325 LF	\$1.65	\$536.25	\$1.75	\$568.75	\$0.00	\$0.00
650 5500	CONSTRUCTION STAKING CURB AND GUTTER	126 LF	\$3.50	\$441.00	\$1.50	\$189.00	\$0.00	\$0.00

650.9000	CONSTRUCTION STAKING CURB RAMPS	1 EACH	\$250.00	\$250.00	\$250.00	\$250.00	\$0.00	\$0.00
690.0150	SAWING ASPHALT	65 LF	\$5.00	\$325.00	\$1.75	\$113.75	\$0.00	\$0.00
690.0250	SAWING CONCRETE	10 LF	\$5.00	\$50.00	\$2.55	\$25.50	\$0.00	\$0.00
SPV.0055.01	CHALLENGER PARKING LOT FEE	5,950 DOL	\$1.00	\$5,950.00	\$1.00	\$5,950.00	\$0.00	\$0.00
SPV.0060.02	BIOFILTER	1 EACH	\$48,900.00	\$48,900.00	\$49,008.00	\$49,008.00	\$0.00	\$0.00
SPV.0060.29	SIGN SUPPORT 2X2-IN 16-FT	2 EACH	\$860.00	\$1,720.00	\$780.00	\$1,560.00	\$0.00	\$0.00
SPV.0075.01	STREET SWEEPING	50 HRS	\$0.01	\$0.50	\$175.00	\$8,750.00	\$0.00	\$0.00
BS:401	ELECTRICAL WIRING: #10 XHHW 23.75	24 CLF	\$146.00	\$3,504.00	\$146.00	\$3,504.00	\$0.00	\$0.00
BS:402	CONDUIT: RIGID NON-METALLIC, SCHEDULE 40, 1-INCH	740 LF	\$9.60	\$7,104.00	\$9.60	\$7,104.00	\$0.00	\$0.00
BS:403	HANDHOLE: 13" X 24" X 24"D	1 EA	\$2,855.00	\$2,855.00	\$2,855.00	\$2,855.00	\$0.00	\$0.00
BS:404	TYPE OA1 PER LUMINAIRE SCHEDULE W/CONCRETE BASE	4 EA	\$8,325.00	\$33,300.00	\$8,325.00	\$33,300.00	\$0.00	\$0.00
	ALTERNATE 4 - C	Challenger Parking Lot		\$309,203.91		\$320,310.35	\$0.00	\$0.00

TOTAL of the Highlighted above	\$8,282,138.88	\$8,811,049.85	\$0.00	\$0.00
TOTAL ALTERNATE 4 - Challenger Parking Lot	\$309,203.91	\$320,310.35	\$0.00	\$0.00
TOTAL ALTERNATE 3 - Digital Roadway Sign	\$362,764.25	\$340,764.25	\$0.00	\$0.00
TOTAL ALTERNATE 2 - Landscaping of Front Entry	\$305,425.00	\$283,374.00	\$0.00	\$0.00
TOTAL ALTERNATE 1 - Front Drive Lane	\$4,898,075.59	\$5,043,590.98	\$0.00	\$0.00
TOTAL BASE BID - Underground Utilities and Pond	\$2,406,670.13	\$2,823,010.27	\$0.00	\$0.00